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¢ (1)  Answer any 4 questions.

(2) Assume any data if required, mention clearly.

L. (a) Sketchthe signal S
X(t) =rx(t) - (t-3) -5 u (t-5) + 2 u (t-7)
(b) Check whether the discrete time system given by the equation 35
y[n] =6[n+2] Cos[x[n]] is causal or not linear or not, justify.
. : 2
f (c) Find the Laplace transform of x(t) = ge—Zt u(t)*u(t) ‘ 5
(d) Find tha z-transform of the signal ' S

jrn
x[n)=7[n +2]e 4 u [n]

e

. (@) Find out whether the following signals are periodic or not, if periodic findperiod 6
. 3T
s ] =— iy n
"}1) x[n] 63111( 2 H+A)
(5., x(®) =¢™

(b) Find ﬂié"g&pe{rgy and power of the signals

6
X(t) £ 1 (2714 T4)
x[n] = 7.6 y[n]
(c) Find the even and 0dd pizt of the signal 4
| x(t) =u(t) - u(t-3)”*f-';f. W 1 |
(d x[n] =1 -2 fMcd N4 - 4
= -2 3<ng6 v
= n-6 T<n<l0- ':5;{;‘,;,,
sketch (i) x[n] (i)  x[2n+3]"%..
3. (a) Check whether the discrete time system given 't}j:}.{'he impulse fesponsc 4
h(t)=2"u (t+2) is stable or not causal or not, Jusiiﬁ"r_h .
(b) Find the response of the system with impulse responsehfn] =[1.4.2 1] " 4
when the input o e, A
x[n] = [2,-1,2,1,3] '
(¢) letx(t) = (t+1) - u(t-2)
h()=u(t+1)-u(t-1) | k! 5 )

Find y (t) = x(t) * h(t) sketch the waveform.
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(d) Show that the set of signals | 4

- 3, 1
P®=1LP M) =tP(1)= (“2"12"'5) are othogonal to each other in the

interval -1< t <}

4. (a) Find the exponential Fourier series co-efficients of the signal given below. 7
sketches. |
-3

|
l

(b)' Find the F%il_};i,@r transform of the signal 7

o x(t) = Cos (w,£) u(t). - -
(c) Find the discrete time Fourier series co-fficients of the signal 6

x[n]= Cos [%3 |

i
L ] ’ -
“f

5. (a) Prove the time shifting property' of CTFT.

>
(b) Prove the Parsevals relation for discrete time Fourier series. - 5
(c) Consider a system with impulse response 5
' h(t) = 8(t) - e u(t)+2etu (). o
find the transfer function H (s) of the inverse 5f3@t9m. |
. I o Ts+10
(d) Determine the initial and final value of the signal X(s) Fabel 5

gl
J"‘.";-.
%

'.
-."
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6. (a) Find the impulse response of the system, if

1 2
H(z) = 1 +l ~
1____2—-1 -2z ;
2

If the system is (i) Causal (ii) Stable

—35~7
(b) LetX(s)= G+)(G-1) find x(t) for all possible ROC.

(c) Leth[n]=3[n]-(0.4).(0.5)" uln]. Find the difference equation relating'the
-System input and output. : 7%
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